
A P. . 1 0 0 3  /  I S O

A P K T  1 0 0 3  I S O
®

I S O

180 w w w. h e i ke n e i . c o m 181i n f o @ h e i ke n e i . c o m 

A P K T  1 0 0 3  I S O  -  E N D  M I L L S

1 1

INSERT SCREW TORX KEY

ØD Ød

H
L

ISO 
AP..1003

Stock
Inter 

Coolant
D Z H L d Insert Screw Torx Key

1064200 ● ● 12 1 30 120 12

AP..1003..

M2.5X6

 T08

1064300 ● ○ 14 1 30 120 12 M2.5X6

1064400 ● ● 16 2 30 100 16 M2.5X6

1064500 ● ○ 16 2 30 120 16 M2.5X6

1064600 ● ● 16 2 40 150 16 M2.5X6

1064700 ● ○ 16 2 50 200 16 M2.5X6

1064800 ● ● 16 2 50 250 16 M2.5X6

1064900 ● ○ 18 2 30 100 16 M2.5X6

1065000 ● ● 18 2 30 120 16 M2.5X6

1065100 ● ○ 18 2 40 150 16 M2.5X6

1065200 ● ○ 18 2 50 200 16 M2.5X6

1065300 ● ● 20 3 30 100 20 M2.5X7

1065400 ● ○ 20 3 30 120 20 M2.5X7

1065500 ● ● 18 2 50 250 16 M2.5X6

1065600 ● ○ 20 3 40 150 20 M2.5X7

1065700 ● ● 20 3 60 200 20 M2.5X7

1065800 ● ○ 20 3 70 250 20 M2.5X7

1065900 ● ● 22 3 30 100 20 M2.5X7

1066000 ● ○ 22 3 30 120 20 M2.5X7

1066100 ● ○ 22 3 40 150 20 M2.5X7

1066200 ● ● 22 3 50 200 20 M2.5X7

1066300 ● ○ 22 3 50 250 20 M2.5X7

1066400 ● ● 25 3 30 100 25 M2.5X7

1066500 ● ○ 25 3 30 120 25 M2.5X7

1066600 ● ● 25 3 40 150 25 M2.5X7

1066700 ● ○ 25 3 60 200 25 M2.5X7

1066800 ● ● 25 3 70 250 25 M2.5X7



A P. . 1 0 0 3  /  I S O

A P K T  1 0 0 3  I S O
®

I S O

182 w w w. h e i ke n e i . c o m 183i n f o @ h e i ke n e i . c o m 

A P K T  1 0 0 3  I S O  -  E N D  M I L L S

2 1

INSERT SCREW TORX KEY

ØD Ød

H
L

ISO 
AP..1003

Stock
Inter 

Coolant
D Z H L d Insert Screw Torx Key

1066900 ● ○ 28 4 35 150 25

AP..1003..

M2.5X7

T08

1067000 ● ○ 26 3 35 150 25 M2.5X7

1067100 ● ● 26 3 35 200 25 M2.5X7

1067200 ● ○ 26 3 35 250 25 M2.5X7

1067300 ● ● 30 4 30 100 25 M2.5X7

1067400 ● ○ 30 4 30 120 25 M2.5X7

1067500 ● ● 30 3 40 150 25 M2.5X7

1067600 ● ○ 30 4 40 150 25 M2.5X7

1067700 ● ○ 30 4 40 200 25 M2.5X7

1067800 ● ○ 30 3 40 300 25 M2.5X7

1067900 ● ● 32 4 40 150 25 M2.5X7

1068000 ● ○ 32 4 60 150 32 M2.5X7

1068100 ● ● 32 4 60 200 32 M2.5X7

1068200 ● ○ 35 4 30 100 25 M2.5X7

1068300 ● ● 35 4 30 120 25 M2.5X7

1068400 ● ○ 35 4 30 150 25 M2.5X7

1068500 ● ● 35 4 30 200 25 M2.5X7

1068600 ● ○ 35 4 35 100 32 M2.5X7

1068700 ● ○ 35 4 35 120 32 M2.5X7

1068800 ● ○ 35 4 35 150 32 M2.5X7

1068900 ● ○ 40 5 40 100 25 M2.5X7

1069000 ● ○ 40 5 40 120 25 M2.5X7

1069100 ● ○ 40 5 40 150 25 M2.5X7

1069200 ● ○ 40 5 40 200 25 M2.5X7

1069300 ● ○ 40 5 40 100 32 M2.5X7

1069400 ● ● 40 5 40 120 32 M2.5X7

1069500 ● ○ 40 5 40 150 32 M2.5X7


